
Uncertainty Analysis 



Uncertainty Analysis (2)       
… Due to Bridge Resistors … 



Uncertainty Analysis (3)       

Assume Precision Uncertainty of Elenco Box ~ 0 

… Due to Bridge Resistors … 

~ 1 



Uncertainty Analysis (4)       
… Uncertainty Due to Bridge Resistors … 

Voltmeter Resolution Error →

URxVM
≈

UVM

∂VM ∂Rx

→VM =
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R1 + R2( ) ⋅ Rx + R3( )
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Uncertainty Analysis (5)       
… Uncertainty Due to Voltmeter Resolution… 



Uncertainty Analysis (6)       
Voltmeter Resolution Error →
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Since→ R1 ≈ R2 → Rx ≈ R3 →
URxVM
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=
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For Balanced Bridge 



Uncertainty Analysis (7)       

Resistor Precision Error Elenco Resolution Error Voltmeter 
Resolution Error 


